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Appendix 1

CENTILE EQUIVALENTS FOR BLOCKS PASSED

centile
agé: 1 5 10 250 50 75 90 95
4;0-4;2 1 2 3 4 6 8 10 13
4:,3-4,5 | 1 2 3 5) 7s = 10 12 14
4:6-4;8 1 2 4 5 8 11 13 14
4;9-4;11 2 3 4 6 g 2 13 15
5:0=9:5 3 4 6 8 11 13 15 16
5;6-5;11 ) 6 7 9 (2 14 1S 16
6,0-6;11 5 7 9 1t 14 16 7 18
7;0-7;11 : 6 9 10 13 5 7 18 19
8:0-8;11 9 &l 12 14- 16 18 - 19
9;0-9;11 10 63 14, 15 174 18 - 19
10;0-10;11 11 13 15 16 ili§ - - 19
11:0- 45114 12 14 15 = 16 18 - - 19
12;0-12;11 13 15 16 17 18 - - 19

Entries in body of table are numbers of blocks passed

For data on adults, see Appendix 11.
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